Section 2 — Measurernent

Uniits

1. Here are some amounts. Circle the best estimate for each amount.

The amount of lemonade in a3 can 300 mi 31 3001 30001
The mass of a cat 4g  400g  4kg  400kg

The length of a pen 1.5¢cm 15¢cm 1500 mm 15m

2. Abag of potatoes has a mass of 4.5 kg.

Put a tick next to the two statements that are most likely to be true.

The bag contains about 10 potatoes.

The bag contains about 200 potatoss.

The bag weighs about the same as 10 bags of crisps.

The bag has a larger mass than a 4 year old child.

The bag weighs about the same as 3 newborn baby.

3. These amounts are written in litres. Change them into millilitres.

Write your answers in the boxes. One has been done for you.

51 = { 5000 |m 71 = m 201 = mi

1.51 = mi 23 = ml 6.851 = ml
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